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Rahul is studying with four friends in a study room. His mother gives him a basket containing 17 apples
and asks him to divide it equally among themselves. So, how will be divide the apples among them? ?
(a) each will get 3 and 2 apple remains undistributed

(b) each will get 5 and 3 apple remains undistributed

(c) each will get 1 and 2 apple remains undistributed

(d) each will get 5 and 5 apple remains undistributed

Seema had four dolls. Her friend Nisha gave her two more dolls. Now Seema gives 3 dolls to her younger sister
Usha. So, now how many dolls Seema have ?

(a) 4 (b) 2 (c)3  (d) None of these

Each student of class 10 are given geography book containing 67 pages. If the total no. of pages is 1608, then
how many students are there ?

(a) None of these  (b) 20 ()22 (d)24

Today Shyam has studied 3 hours 25 minutes. Then in total, how many minutes has he studied ?
(a) 203 (b) 204 (c)200 (d) 205

2 Hours 45 minutes 20 seconds = How many seconds?

(a) None of these (b) 9920

(c) 9902 (d)9900

Ravi came to Kolkata from Burdwan in 162 minutes by train. Then how many hours and minutes has he
travelled by train ?

(a) 2 hours 42 minutes

(b) 2 hours 40 minutes

(¢) 3 hours 42 minutes

(d) None of these

The teacher had given few sums to Monu to solve at home. She thought that it would require 2 hours and
30 minutes to solve them. But she noticed that within 1 hour and 50 minutes, she had already solved the
sums. how much time is saved ?

(a) 42 minutes (b) 40 minutes

(c) 38 minutes (d) 45 minutes

Monica’s age is 9 years 6 months 22 days and Sonu’s age is 9 years 8 months 15 days. What is the total
of their age ?

(a) 19 years 1 month 7 days

(b) 19 years 2 months 3 days

(c) 19 years 3 months 3 days

(d) 19 years 3 months 7 days .

Nikita’s didi’s age is 12 years 2 months 15 days. Nikita’s age is 9 years 5 months 17 days. How much
elder Nikita’s didi from Nikita?

(a) 2 years 8 months 12 days

(b) 2 years 2 months 10 days

(c) 2 years 8 months 28 days

(d) None of these

The total of ages of 7 friends is 62 years 1 month 15 days. If all of them have equal ages, then what is the
age of them individually ?

(a) 8 years 9 months 13 days

(b) 8 years 10 months 15 days

(c) 8 years 8 months 15 days

(d) None of these

A businessman bought 28m 75cm cloth from a whole sale dealer and 63m 50cm of cloth from another
wholesale dealer. He sold 25m 50cm of cloth to a retailer. Find the length of the cloth left with him?

(a) 66m 70cm (b) 66m 75cm

(c) 65m 70cm (d) 64m 70 cm
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Keshab purchased some bags of cement each containing 45 kg 500gm of cement. 5 bags of cement are
used. Find the quantity of cement used by him?

(a) 227 kg 500¢g (b) 228 kg 400gm (c) 227 kg 700g (d) None of these
121 578ml +781432ml ="

(a) 917010m! (b) 917200m!

(c) 91/ 100m! (d) None of these

A ticket to the Dolphin Show costs Rs. 19 for 1 adult. Which estimate is closest to the total cost of
tickets for 4 adults.

(a) Rs. 20 (b) Rs. 40

(c) Rs. 80 (d) Rs. 100

N\
‘ STOP ’
What is the shape of the ‘STOP’ signal ?
(a) Pentagon (b) Hexagon
(c) Octagon (d) Decagon

Ms. Garg leaves her home at 7 : 30 am. She returns home at 5 : 30 pm. For how many hours was
Ms. Garg away from her home ?

(a) 8 hours (b)10 hours

(c) 11 hours (d) 12 hours

Anu and her father went fishing in a pond. Anu made this graph to show how many fish they caught,
but she forgot to put numbers on the graph.Anu and her father caught 3 starfish and 12 small fish.
About how many big fish did thez} catch ?

T
I

!
1

Number of fish caugh
T
I

Big Small
fish fish

28

(a) 10 (b) 6 (c)12 (d) 9
Distance between two districts in West Bengal is 1000 km. If a bus travelled half of the distance in
10 hours. how much distance is yet to be covered ?

1000 1000+10 10
(a) km (b) — = km (c) 2V km (d) 1000_1 km
2 2 2 2
Ali counted the rows of plants in his garden by using the number sentence 14x 4 = D Which could

be used to check the answer ?

()4 + 14=__| (b)14+4 :D (c) 14 +56= | (d)56+ 14 = |
A boy has drawn a number card from a bag containing numbers from [ to 100. It is found to be 20
more than the least two digit number. What is his number ?

(a) 30 (b) 40

(c) 50 (d) 20

In the given figure which number is in the square and the circle but is not in the triangle ?

1
2/3)\ 5

4

(a) 2 (b) 3 (c) 4 (d) 5
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How many four digit numbers can be formed using 7, 5, 0, 2 only once in a number ?

(a) 4 (b) 3 (¢) 9 (d) None of these.

Bunty read 5 chapter books and 9 picture books. Ramu read 16 chapter books. Which number sentence
correctly compares the total number of books Bunty read with the number of books Ramu read ?

(a)5+9<16 (b)5+9>16
(c)16=5+9 (d9o=16-5
1+2+3+ ... + 100 = ?

(a) 5050 (b) 6010

(c)7171 (d) None of these

Which of the following sets of fraction is arranged from the largest to the smallest ?
123 79 o 7 3 21

(a)g,g,g, gas (b)?, 5° 5> 595

9 10 7 15 11 11 7 5 310
(C)_a A 59 _:_(d)_a N T 29_
27 2 27 2 27275 2
How many triangles are present in the gi-
(a) 10 (b) 11 (c) 15 (d) 18
What will replace the ? '
(@) 25 (b) 105
(c) 56 (d) 102
This clock is 10 min fast. If the clock shows 12 : 30 pm what is the actual time ?
(a) 12 :40 pm (b) 12 : 20 pm
(c) 12 :45 pm (d) 12 : 15 pm
Find out how many of the following statements are True ?

(i) division is repeated subtraction

(i) If we add 1(one) to a number we get the successor of that number
(iii) In Roman numerals, ‘X’ can be repecated maximum of three times.
(iv) Cube has 8 corners and 12 edges.

(a) 3 only (b) 2 only

(c)1 only (d) all

Which of the following has plane a surface ?

(a) Globe (b) Egg (c) Floor (d) Ball

Each student of class 10 are given geography book containing 67 pages. If the total no. of pages is 1608, then
how many students are there ?

(a) None of these (b) 20 (c)22 (d)24

The total of ages of 7 friends is 62 years 1 month 15 days. If all of them have equal ages, then what is the
age of them individually ?

(a) 8 years 9 months 13 days (b) 8 years 10 months 15 days
(c) 8 years 8 months 15 days (d) None of these

Ateacher told a boy to subtract 7325 from 9003. The boy’s answer was 678. How much was the boy wrong
?



34.

35.

36.

37.

38.

39.

40.

41.

42.

(a) 1000 (b) 1001 (c) 1100 (d) 2000

If you ate a pizza and a half in a day, how many pizzas would you eat in a week ?
(a) ten and a half (b) eleven

(c) twelve and a half (d) five

A boy has drawn a number card from a bag containing numbers from 1 to 100. It is found to be 20
more than the least two digit number. What is his number ?

(a) 30 (b) 40 (c) 50 (d) 20

Lucas fills bowls with floating candles. The given table shows the relationship between the number
of bowls he uses and the number of candles in bowls.

Use the pattern in the table to find out how many candles Lucas puts in 9 bowls ?

Number of Bowls Number of candles
4 24
6 36
8 48
9 ?
(a) 63 (b) 60 (c) 54 (d) 50
How many hundreds are there in 1802 ?
(a) 8 (b) 800 (c) 80 (d) None of these.

Bunty read 5 chapter books and 9 picture books. Ramu read 16 chapter books. Which number sentence
correctly compares the total number of books Bunty read with the number of books Ramu read ?

(a) 5 +9 <16 (b)5+9> 16 ) 16=5+9 d9=16-5

Look at the pictures below, which is heavier ?

A

(a) P (b) Q (c) R (d) Both (a) and (b)

The first five numbers in a pattern are shown below. A subtraction was used to find each new number
in the pattern.

125 105 8 65 45 7?

If the subtraction pattern is continued in the same way, what be the next number in the pattern ?

(a) 44 (b) 35 () 25 (d) 46

How many triangles are present in the given figure ?

L

(a) 10 (b) 11 () 15 (d) 18

A girl spends one fourth of a day in school. How many hours does she stay at home ?

(a) 6 hours (b) 18 hours (c) 4 hours (d) 16 hours
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I am greater than 260 but less than 280. When you add my first and third digits you will get 9. Which
number am I ?

(a) 277 (b) 257 (c) 287 (d) 269

There is 3/4 cup of milk in the measuring cup as shown in the figure. Soha poured 1/4 cup of milk
out of the measuring cup. How much milk is left?

(a) 1/4 cup (b) 3/4 cup (c) 4/4 cup (d) 1/2 cup

Find the mirror image of each figure given below when mirror is palced vertically to the left.
o JLC =0 = 1:0 o
(a) 6o:H (b) £ 3=0 (c) CC =0 (d) H:55

Mr. Sengupta needs to drive to Town Q via to Town P by his car at A for a business meeting.
The figure below shows the routes that he can take

(AD)

A Town Q
Mr. sengupta’s car Town P
How many different ways are there for Mr. Gupta to go to Town Q ?
(a) 3 (b) 10 (c) 12 (d) 8

Which lines in the diagram below appear to be non-meeting lines ?

) e

P3 35

/F E

(a) BF and GE (b) AC and GE
(c) BF and AC (d) FD and AC

When 1/5th of a number is subtracted from that number, the result is 1/5. Find the number.
(a) 1/8 (b) 1/4 (c) 1/12 (d) 1/10

An artificial satellite revolves around the earth one time for 16 hrs. 15 min. 5 sec. How much time
will it take to revolve around earth 105 times ?

(a) 1287 hrs. 22 min. 25 sec. (b) 1706 hrs. 23 min. 45 sec.

(c) 1893 hrs. 32 min. 1 sec. (d) None of these.

A vessel contains 970/ 975ml. of drinking water. Three families took 205/ 125ml, 412/ 300m/ and 285/
250ml of water from the vessel respectively. How much water is taken by three families altogether ?

(a) 9021 675ml (b) 9027 670 ml (c) 9021 665ml (d) None of these



51. Following figure is made up of 3 squares . Find the length of one side of

square L
<3 (—>
L M N Jm
!

- 18 cm.—
(a) 14 cm. (b) 18 cm. (c) 9 cm. (d) 12 cm.

52. The cost of one towel is Rs. 45.60 and the cost of one soap is one fourth of
the cost of the towel. What is the cost of the soap ?
(a) Rs. 22 (b) Rs. 11.40 (c) Rs. 22.90 (d) Rs. 12.30

53. Inayear, Monday is the first day of the month of March.Which one of the
following sets of dates comes on Monday in the same month ?

(a) 1,8,16,22,29 (b) 1,7, 16,23, 30
(c) 1,8,15,22,29 (d) None of these.

3
54. The square root of (D'?jj +[[]_?5+|1[]_?5:|2+1:| 1s

1-0.75
() 1 (b) 2 (©) 3 (d) 4
324 pza

55. 481 +'1J'81 =
(a) 4 (b) 12 (c) 6 (d) 18

56. Which of the following statement is false ?

(a) 21 is a prime number (b) 2 is the smallest prime number
(¢) A prime number has only 2 factors
(d) There are only 4 single digit prime number.

57. 1 litre = centilitre

() 1000 (b) 10 (c) 100 (d) 200

58. Find the missing number
{11 'g 23 \



(a) 21 (b) 19 (c) 18 d 15
59. 50087 x 165 = ?
(a) 8264355  (b) 8260305 (c) 8264358 (d) 8264305

60. Find the odd one out :

(a) \r/ (b) @[) () @ @ Vv Vv
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